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May 19, 1999 LB 661

SENATOR CUDABACK: Thank you, Senator Brashear. We are
discussing the Kristensen amendment and it has been divided into
two parts, FA251 and FA252. Any further discussion? Senator
Kristensen, to close on your first part.

SPEAKER KRISTENSEN: Thank you, Mr. President. Members, 1 don"t
think the definition change...l think it"s more accurate

definition change. Senator Beutler, if you"ll look at 1it, it
does talk about which ones of those particular dates. And at
some point in time you"ll probably have a Revisor®"s bill that
will come back and say all these particular dates have passed
and we"re just going to strike this stuff out as it relates to
the computer date failures. But at least at this point in time,
1 think that definition, | know that there"s been
representatives of the Policy Research Office that have had some
interest and 1 believe that this date is an acceptable, this
definition 1is acceptable to them as well. 1"d urge its
adoption.

SENATOR CUDABACK: Thank you, Senator Kristensen. The question
before the body is shall the first part being FA251 be adopted
to LB 661? All in favor vote aye, opposed nay. We"re voting on
the first part of the divided question. Please vote if you care
to. Record, Mr. Clerk.

CLERK: 25 ayes, 0 nays, Mr. President, on the adoption of the
Ffirst component.

SENATOR CUDABACK: FA251 is adopted to LB 661. We are now
discussing the second part being FA252 to LB 661. Senator
Kristensen. (See page 2270 of the Legislative Journal.)

SPEAKER KRISTENSEN: Thank you, Mr. President. |1 want to make
sure that 1 explain this portion of it, and 1 don"t want to lead
people to believe that this is a radically controversial part.
What we"ve tried to do is structure this so it"s easier for you
to identify the pieces and the parts because it can get a little
confusing. We"ve narrowed it down to this is the part that"s
probably the one that 1is the deviation from the committee
amendment, but 1 think is a reasonable deviation to do. And I™m
going to read to you what the section would read like 1if we
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